
Puissances de Dix (G)

91 × 1 = 69 × 1 =
91 × 0,1 = 69 × 0,1 =
91 × 0,01 = 69 × 0,01 =
91 × 0,001 = 69 × 0,001 =
91 × 0,0001 = 69 × 0,0001 =

67 × 1 = 65 × 1 =
67 × 0,1 = 65 × 0,1 =
67 × 0,01 = 65 × 0,01 =
67 × 0,001 = 65 × 0,001 =
67 × 0,0001 = 65 × 0,0001 =

17 × 1 = 98 × 1 =
17 × 0,1 = 98 × 0,1 =
17 × 0,01 = 98 × 0,01 =
17 × 0,001 = 98 × 0,001 =
17 × 0,0001 = 98 × 0,0001 =

53 × 1 = 44 × 1 =
53 × 0,1 = 44 × 0,1 =
53 × 0,01 = 44 × 0,01 =
53 × 0,001 = 44 × 0,001 =
53 × 0,0001 = 44 × 0,0001 =

63 × 1 = × 1 =
63 × 0,1 = × 0,1 =
63 × 0,01 = × 0,01 =
63 × 0,001 = × 0,001 =
63 × 0,0001 = × 0,0001 =
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Puissances de Dix (G) Solutions

91 × 1 = 91 69 × 1 = 69
91 × 0,1 = 9,1 69 × 0,1 = 6,9
91 × 0,01 = 0,91 69 × 0,01 = 0,69
91 × 0,001 = 0,091 69 × 0,001 = 0,069
91 × 0,0001 = 0,0091 69 × 0,0001 = 0,0069

67 × 1 = 67 65 × 1 = 65
67 × 0,1 = 6,7 65 × 0,1 = 6,5
67 × 0,01 = 0,67 65 × 0,01 = 0,65
67 × 0,001 = 0,067 65 × 0,001 = 0,065
67 × 0,0001 = 0,0067 65 × 0,0001 = 0,0065

17 × 1 = 17 98 × 1 = 98
17 × 0,1 = 1,7 98 × 0,1 = 9,8
17 × 0,01 = 0,17 98 × 0,01 = 0,98
17 × 0,001 = 0,017 98 × 0,001 = 0,098
17 × 0,0001 = 0,0017 98 × 0,0001 = 0,0098

53 × 1 = 53 44 × 1 = 44
53 × 0,1 = 5,3 44 × 0,1 = 4,4
53 × 0,01 = 0,53 44 × 0,01 = 0,44
53 × 0,001 = 0,053 44 × 0,001 = 0,044
53 × 0,0001 = 0,0053 44 × 0,0001 = 0,0044

63 × 1 = 63 × 1 =
63 × 0,1 = 6,3 × 0,1 = 112,2
63 × 0,01 = 0,63 × 0,01 = 11,22
63 × 0,001 = 0,063 × 0,001 = 1,122
63 × 0,0001 = 0,0063 × 0,0001 = 0,1122
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